+ T A H = (1)

PEE T (RHE) REL
. X B b = LYK - ; X H AJUINE YAyl T=3 "
B X[ e Lﬁﬁfﬁ I@Lﬁzﬁfaf {4 jé W = B X 5] i e R¥JUNE ¥ e i} 2% =
m m m m m m m m
No.8 (IP.9 No.8 (IP.9
+1.18 +1.18 3.85 +1.18 +1.18 2.40
No.9 18.85 3.60 3.73 70.31 No.9 18.85 2.40 2.40 45.24
No.10 20.09 3.50 3.55 71.32 No.10 20.09 2.40 2.40 48.22
No.10 No.10
+2.41  (IP.11) 2.41 3.50 3.50 8.44 +2.41 (IP.11) 2.41 2.40 2.40 5.78
No.10 No.10
+2.41  (IP.11) 3.50 +2.41  (IP.11) 2.00
& i 41.35 150.07 & 41.35 99.24




+ H i (2)
WET
. X i T T s A4 [ N ) X i 7 T i A4 [k N
B X[ e Lﬁﬁjﬁ ¥/7Lﬁ2ﬁ$§ i® fé W = B X7 i e Lﬁﬁjﬁ I@Lﬁzﬁ% i® fﬁ s =
m m m m m m m m
No.8 (IP.9
+1.18 +1.18 1.06
No.9 18.85 1.04 1.05 19.79
No.10 20.09 1.15 1.10 22.10
No.10
+2.41  (IP.11) 2.41 1.15 1.15 2.77
No.10
+2.41  (IP.11) 1.29
& i 41.35 4466 & i




R 7 AT L8 — A A E

£ Bk &Rl WK - STk AL & R 72 No i =

T-25 HahE 997

R 7 2T 7S — ] W1900 X H800 (IB10) HAR {E] 21 HEER 2,570kg/{#
T-25 HhE 1347

N— B 7T U 4 % = 3,

AT AH N IS—]h W1900 X H800 (IB10) 4?43] TV M I[ES 1 A EZHEE 3,482kg/{H
1725 HNE 995 . Ry I AF Vs 3—h

Ry VA7 —h W1900 X H800(1B10) | THARPA F1-[1500 X500/2 77 A U4k fi 7 ] ZEEE 2,570kg/{
T-25 H3hE 995

R 7 AH ) 73—] W1900 X H800 (IB10) TERRBE 0 -500 X 500/2 7544 (4 & 7 LEBEE 2,570kg/

R 7 AT S — T-25 FE < ARV R E

TL—F (1500 X 500 (1630 X 630 (32 #iA) e 7




T & Nl = iE =X AL B &
FERET
R I AT LS — W1900 X H800 X L. (4&-F&)
FEHHE R 35.070 +  1.352 = 36.422 m
B L2 )L Bea1:3 36.422 X 2.200 X 0.020 = 1.603 m’ 1.6
T ANERERR
BB B700 X T100 X 1.2000 L=2000 (fE#£) 17 X 2 = 34 K 34
L A FERE AR
RN (LAY XR) B700 X T100 X 1.1000 L=1000 (f#g) 1 X 2 = 2 14 2
Ty AL Privasm
MRy RARV %) B700 X T100 X 1.650 L= 650 (L) 1 X 2 = 2 14 2
Ty ANEEE IR
L) B700 X T100 X L2000 L=2000 (fE#%E) 2 X 34 = 68 m 68
T AR
FXE 5y B700 X T100 X 1.1000 L=1000 (&) 1 X 2 = 2 m 2
L A FEEAR Priu s
S E Sy B700 X T100 X 1650 L= 650 (INILh) 0.65 X 2 = 1.3 m 1.3
RC-40
— t=100mm 0.700 X 2 X 36.422 = 50.991
Fe e RC—10

t=200mm ( 2.400 - 0.700 X 2 ) X 36.422 = 36.422 m’ 87.4




AL T A E & O

T & FER " E = AT & i MR
AEFLERE R - As—5-10 {RAHSERE R As—3-12
AT Y)W T B 5cmBL T 41.35 X 1 41.35 m 41.35 41.00
BERRT A7 7V b
BT IR A T t=50mm 64.42 AHEE TEHEEZEOLY 64.42 m? 64.42 64.0
SHLEFER - L5y T AT 7L N 64.42 X 0.05 3.22 m 3.22 3.0
AR SR
BARRAE IH T t=120mm 64.42 HFETHHEEOQIY 64.42 m> 64.42 64.0
FHARRIET A3
IEHEEIE IH T t=30mm 64.42 EEETHHEEZQIY 64.42 m> 64.42 64.0
HAERKIET Az
IR E A T t=30mm 64.42 HETEHREEOID 64.42 m? 64.42 64.0
B T P T - ALy T AT 7L N 64.42 X 0.03 1.93 m° 1.93 2.0
RE#& E T i e BT 109.49 & TREBAX LY 109.49 m> 109.49 109.0
AR ET A2
AREFEEHEIHT t=50mm 109.49 k& T RBAIX LY 109.49 m> 109.49 109.0




it HOEFO

RCEE Je OV E IH T

B X [ Al IR - B e ifi} 2% W =
m m m m

No.8 (IP.9 0.64
+1.18 +1.18 0.87
0.62

No.9 18.85 0.84 1.49 28.09
0.94

No.10 20.09 0.80 1.60 32.14
No.10 0.94

+2.41  (IP.11) 2.41 0.80 1.74 4.19

& & 41.35 64.42 & &




= Yo
K OB OB T O R OE
a7V —REEE T (8R) a7V —REEE T ()
N X B 4] = MZ AT H " § X B 4] = Z AT "
B X[ e Uﬁoj,a IGL@@% i® 3%% W = B X7 i e Lﬁﬁjﬁ Ii’jLﬁzﬁié i® 3%% s =
m m m m m m m m
No.8 (IP.9 No.8 (IP.9
+1.18 +1.18 +1.18 +1.18 0.35
No.9 18.85 No.9 18.85 0.33 0.34 6.41
No.10 20.09 0.19 0.10 2.01 No.10 20.09 0.39 0.36 7.23
No.10 No.10
+2.41  (IP.11) 2.41 0.19 0.19 0.46 +2.41 (IP.11) 2.41 0.39 0.39 0.94
No.10
+2.41  (IP.11) 0.28
& i 41.35 2.47 & 41.35 14.58




H R 0 (FET]

T % B & &

i s | 0 || en | TEP g fii %
i AR A RS 1=50mm 64.4 m’ 730 1 0.1 1.7 0.2 if_%fg%%@
BRI X 2778070.28m3 ([LIFE) 150.1 m® 59 1 2.5 1.7 4.3 Tk A-1-4
HHEFEIE 99.2 m” 50 1 2.0 1.7 3.4 ij;%f_%%%ﬁ
NEE 4.6 7.9
BERRREEIRE T |y (bt 1) 160 | o 1 L oas | ot | 2e i*v{_?_%%%@
BEARHEEE T | S (M T) i1 | w | 19 ooz |17 | o3 i*v{fﬁj%%@
NG 1.7 2.9
e ST WA T v vTRC-40 87.4 m” 155 1 0.6 1.7 1.0 iﬂ?%f_%%%@
SRR E T LR 1=2,000 34 # 33 1 1.0 1.7 1.7 NAZ 7 40
SRR B L L E 1=1,000, 650 4 58 45 1 0.1 1.7 0.2 NAZ 7 H
Ky I AN = MGER T [W1900 X H800 36.4 m 7 1 5.2 1.7 8.8 ij;?ff%%%ﬁ
R HL= 7Y —h 0.01 m’ 3.5 1 0.0 1.7 0.0 iﬁll_i_%%%ﬁ
ar 7Y —hL HLarz)—p 13.2 m? 69 1 0.2 1.7 0.3 ij?¥1?*%%5%@
RIMET FRAHEIEY) 39.4 m? 38 1 1.0 1.7 1.7 ij;%f_%%%@
a7 —h T PR EY 8.8 m® 33 1 0.3 1.7 0.5 ij;?f_%%%ﬁ
PR L —fXHEE 0.5 t 3.5 1 0.1 1.7 0.2 i*ﬁi%@%%@
SR AT PR — R R 7.9 72m’ 34 1 0.2 1.7 0.3 ij;%f_%zi%@
B L — RIS 0.01 t 3.5 1 0.0 1.7 0.0 i*f_i%ﬁi%@
AP T BRAEIE 1.1 m® 38 1 0.0 1.7 0.0 ij;%f_%%%ﬁ
VST e 01 | m 8 1| oo | 17| oo iﬁ{ﬁ%ﬁ%@
NG 8.7 14.7
HRT FBAEMEARC-40 FEED AH | 44.7 m® 85 1 0.5 1.7 0.9 Tk A-1-8
AR T (A2 1H) %ifﬁg%%%g% Rvie3o | 644 m’ 940 1 0.1 1.7 0.2 iﬁ‘ﬁf%%};%@
Rt T HHZE/E t=30mm 64.4 m? 250 1 0.3 1.7 0.5 iTEfﬁ%}%@
s il R4 2 104.0 m’ 1510 1 0.1 1.7 0.2 iTEfg‘%%@
BT (A R) %éﬁﬁ%ﬁéﬁ% V30 | 1040 m? 940 1 0.1 1.7 0.2 iT_If%%%f
BT BT t=50mm 1040 | w® | 250 1| 04 | 17 | o7 ififé%}%@
/NG 1.5 2.7
ARt 16.5 28.2




PERx TKEERE HBEAREE

£ PR | i il B = HAZLER &
DR VU ®200mm o
BERR T AGEE ML (414%216mm) PERRE M ANFLRER 2R (KEFE17/17)
41.0| m 41.0
B g, |[VU® 200
BERE TG Y (g 7o 6.572 X 41.0
0.27| t 0.3
Ry 8t TS TAF v r/4 X (0.21672 — 0.200°2) X 41.0
0.21] m3 0.2




BERR NALI R BRI AR E

4 | il il B v HAL%k &
BEET o sME |y
TR S EEEA ke (419.0 / 2.45)/1000
0.17| m3 0.2
KT vy 7R [H1200 n/4 X (1.050"2 - 0.900°2) X 1.200
0.28| m3 0.3
ER 7 vy 7#E |H130 x/4 X 1.100°2 X 0.13
0.12| m3 0.1
I CONj% 0.17 + 0.28 + 0.12
0.57| m3 0.6
CON#ZE
oy FE A No.52 0.17 + 0.28 + 0.12
0.57| m3 0.6
15 AFLH
AT T ek PhEE K O HeAdoHC85.3kg /#l
t=110mm 0.09 t 0.1




ek BKEERE HEAREE

£ PR | i il B = HAZLER &
n s VP ® 100mm T
BERR FoKEERE (#14%114mm) PERRE M ANFLRER 2R (KEFE17/17)
42.0| m 42.0
B g, |[VP® 100
BERE b A (g0 o1 3.409 X 42.0
0.14| t 0.1
Ry 8t TS TAF v r/4 X (0.114°2 - 0.100°2) X 42.0
0.09| m3 0.1




Bisx A KEIIR HEMES
No.8 i/
A— ABER
)
FLF X PRy I NrV— F
00 x 800
\&1\\ 2080
580 ‘ 2200 foo
NE 10.93 :: h
& L]
20 2580 | b
‘ 700
3080
B— BEmEX
$=1:30
2200
200700 200 1100
- [ A=
2000 lob <
2100 1200
4 i |18 Al g 2 B G |30 £
A-ABTE
BEEXER & KER mEEEY 0.200 x 0.960 x 2 +
(ZR154TCON) 24N /mm’ 0.190 x  2.580 = 0.874
B-BEfT
0.200 x 1.030 x 2 +
0.200 x 0.700 = 0.552
( 0.874 + 0.552 )-+ 2 x 2.000 = 1. 426
m3 1.43
Tl ¥+ R MR (T-25
B1000XT200XL3000 1.0 x 0.2 x 3.0 = 0.6 m3 1.0
L& ¥ R MERRR |T-25
B1000XT200XL2200 1.0 x 0.2 x 2.2 = 0.44 m3 0.4
OB i CONz 1.430 + 1.000 + 0.4 = 2.830 m3 3.00
05 x4 CON#% 1.430 + 1.000 + 0.4 = 2.830 m3 3.00
B4E FHNo. 52




HEIE e TR GH R E

T fi ]l B iE = Ere

ERAIEIED)

BN Car ) —h 24N/mm* 0.250 X 0.250 X 1.070 X 2 = 0.134
ERAIEIED)

il P — ( 0250 + 0.250 )X 1.070 X 2 = 1.070

BT SD345 D13 : ( 0.300 X 8 + 0290 X 8 )X 0.995 = 5

At = 5

5 5

D13




& B E K
(AT kg)
— M 4 M
No E ) o 4 A MR E &
LA | R g £ E | Zofh G HLIAR A,
1 BEA 202.3 14.9 217.2 13.5 13.5 1 230.7
2 RIS 240 96.4 52.5 148.9 1 148.9
3 T 4Y 38.0 22.9 60.9 1.8 1.8 1 62.7
4 & A 182.0 1 182.0
5 5 )& s fi 0.6 0.6 3.5 1 4.1
6
7
8
9
10
& 3 336.7 90.3 427.0 15.9 15.9 185.5 628.4
AR - MR\ IR A - X EEEH
— M 2 M
No Z AL RS (737 i) Bk AT FE AN Giikis
1 [k Hox 1 2 TFE Hox
() () () (kg) () () () (kg)
1 BEA 5.39 1 5.39
2 L EYREL) 2.02 1 2.02
3 T Y 1.09 1 1.09
4 & AR 1
5 YT 1
6
7
8
9
10
& i 8.50 8.50

FHEY) BIER

3.500 (m)




P- 2
BEIR Hilbs B F B2 — R 1900 X 720
No & B MoE Ok =t BAL | B B e | Hox
Jei=N = 5
BE = (nt) (kg
1 | EfIHT SUS304TP-A | ¢ 139.8%6.6t |1.832 21.900 | kg/m| 1 0.80
2 |AFv7L—} SUS304 PL9 1.870%0.760 71.370 |kg/nt| 1 2.84
0.150%0.771-
3 |RER AT SUS304 PL9 1/2%(0.075%0.461) 71.370 |kg/nf 0.20
0.150%0.771-
4 TR HEHT SUS304 PL9 1/2%(0.075%0.461) 71.370 |kg/nd 0.20
5 |[Hiht SUS304 PL9 0.070%0.250 71.370 |kg/nt 0.07
6 | MEBHT SUS304 FB75%19 1.870 11.300 | kg/m 0.28
7 |HtAHR SUS304 FB75%9 0.621 5.352 | kg/m 0.19
8 |AHARA SUS304 FB65%9 1.814 4.639 | kg/m 0.24
9 |ZEEEE (BE) SUS304 PL16 0.120%0.075 126.880 |kg/nf 0.04
10 |3ok3kiE (5F) SUS304 PL16 0.0540.069 126.880 |kg/nf 0.01
11| 3oEEE () SUS304 PL16 0.135%0.100 126.880 |kg/nf 0.05
12 |3oKEkiE OF) SUS304 PL8 0.055%0.090 63.440 | kg/nd 0.04
13 |7V SUS304 RB19 0.075 2.250 | kg/m 0.01
14
15
16
17
18
19
20
I /1N 4.97
=

o




BE 1k b R SRIEE | 1900X 720
No 4 R M B Bk < % AL | B # Ly fe | Hox
Hi & (kg) (m) (kg
1 |7k YA SUS304 PL9 0.050%0.065 71.370 |kg/mi| 2 0.5 0.01
2 |1k SUS304 FB25%6 1.832 1.190 | kg/m 2.2 0.05
3 | sz R SUS304 FB40%9 0.690 2.854 | kg/m 3.9 0.11
4 |T AR SUS304 FB40%9 1.890 2.854 | kg/m 5.4 0.15
5 |7 azZiT SUS304 FB19%6 1.490 0.905 | kg/m 1.3 0.03
6 |PRLIE kG E SUS304 PL6 0.115%0.150 47.580 |kg/nf 1.6 0.07
7
8
9
10
11
12
13
14
15
16
17
18
19
20
fis /] 14.9 0.42
%

op




P- 4

BEA B Z D B BRI S — R 1900 X 720
4 R M Bk ~F % HAL B | | B B (8 % B | Do
P Bl ) b ) ke
KB A AR h SERIL0t 0.080%0.760 16.000 |kg/nf| 2 1.9
KB N AR A SFHI0t 0.250%1.900 16.000 |kg/nf| 1 7.6
NAB, 77V AFEN - |SUS304 M10%45 0.050 |kg/| 20 1.0
ANAB,7TVYTEN  |SUS304 M10%50 0.053 |kg/A| 4 0.2
ANAFRSTIEDFY N |SUS304 M10%40 0.047 |kg/| 4 0.2
ASHB,N,2PW,SW SUS304 M16%65 0.194 |kg/A| 4 0.8
1% SUS304 ¢ 5-40 0.006 |kg/A| 4
SR 4 SUS304 M20 0.017 |kg/f&| 4 0.1
Jyyavyah AR 1.700 |kg/3%| 1 1.7

10

11

12

13

14

15

16

17

18

19

= |8

7N

13.5

o

230.7




(YRR

Eiuh

Ee- %)

P_

5

H @A77 —k 1900 X 720

ZA

Lz

el 3¢

=

==

(kg)

W U

(nf)

Hox

(kg)

BT

SUS304

PL6

1.000%1.150—
1/2%(0.690%0.400)

—

48.2

1.01

B G ))

SUS304

PL6

1.000%1.150—
1/2%(0.690%0.400)

48.2

1.01

10

11

12

13

14

15

16

17

18

19

20

]

96.4

2.02

o




P_

6

ME A4 i RBIEM A S —F 1900X 720
No 4 M H B F % O HAL| B B = (8 | | Do
B Bl k) @b b e
1 |#mY 7 (BEEh) $5400 FB65%9 3.752 4.590 | kg/m| 1 18.2
2 |#inRY 7 (BAEh) 55400 FB65%6 2.469 3.060 | kg/m| 1 7.9
3 |AdTRY 7 (R BEED) $S400 FB65%9 3.752 4.590 | kg/m| 1 18.2
4 |#hsR) 7 (CBEED) $S400 FB65%6 2.469 3.060 | kg/m| 1 7.9
5 [Abon— SUS304 RB35 0.035 7.630 | kg/m| 1 0.3
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
f A E | 525
i & = 148.9 2.02




P- 7

I YEEL) AL F HEEE 7 — R 1900 X 720
R Mo Ok ~F W Wiy | B | % | B BB | B vk Hox
T B kel )] D] ke

BV SUS304 C150%75%9 1.882 20.166 | kg/m 1 38.0 0.67

10

11

12

13

14

15

16

17

18

19

20

i

38.0

o>




IOV O BB 1 1900720
No E 7 Bk ~F HAL | BAL| K i fe Y| Hox
P ol ) (nf)  (ke)
1| SOKERT R SUS304 PL12 0.145%0.150 95.160 |kg/nt| 2 4.1 0.09
2 | BRI AR SUS304 PL9 0.066%0.132 71.370 |kg/nt| 2 1.2 0.03
3 |mEsER SUS304 PL9 0.110%0.150 71.370 |kg/nf| 2 2.4 0.07
4 |2 2% SUS304 FB40%6 1.900 1.902 | kg/m| 1 3.6 0.08
5 |2 MR SUS304 FB40%9 1.900 2.854 | kg/m| 1 5.4 0.15
6 |7vh— SUS304 RB13 0.330 1.050 | kg/m| 18 6.2
7
8
9
10
11
12
13
14
15
16
17
18
19
20
f N F 22.9 0.42
/':% =

o>




IYEEL

paiss

b

< DAt

P_

9

H ##AE 7 —k 1900 X 720

Z )

=
5] 8]
%)

sy

B#&

HAL
HE

e 3¢

=

H

(kg)

(i)

%

(i)

Hox

(kg)

NFB, 77V &N

SUS304

M10*45

0.050

14

0.7

NABN,2PW,SW

SUS304

M16%*65

0.194

0.8

NABN

SUS304

M12%40

0.067

0.3

10

11

12

13

14

15

16

17

18

19

20

i

1.8

o

62.7

1.09




Pam B AN i

P_

10

H 87—k 1900 X720

M A

B

%

HLAL
HE

HLAL

q &

(kg)

ol 3

(i)

Wiz vt

(i)

Hox
(kg)

GAP-790HM

169.000

kg/=

1 169.0

7Ave—7°

SUS304

¢ 10

3.200

0.417

kg/m

SRR TSI

SKS

11.700

kg/Z\

10

11

12

13

14

15

16

17

18

19

20

i

i 182.0

o>

i 182.0




1 I s fi

O

P_

11

H ##E 7 —k 1900 X 720

EA

oit
o
A oo
m

B

~F 1% HAL | HAL
"

i

q =

(kg)

(nt)

e e
(nt)

Hox
(kg)

NAB,N,SW

SUS304

M12%50

0.075 |kg/=\

S

0.3

VI

SUS304

SB12

0.215 |kg/f#

0.2

YT

SUS304

Al2

0.090 | kg/{l

0.1

10

11

12

13

14

15

16

17

18

19

H S

0.6

o>




{1 I s fi

P A HLAS i

P_

12

H ##LE 7 —k 1900 X 720

EA

MOE

B

1%

HAL
"

HAL

i

q =

(kg)

(nt)

e U

(nt)

HoX
(kg)

DAY B4

SUS304

WTS-10

3.500

—

3.5

10

11

12

13

14

15

16

17

18

19

20

i

3.5

o>

4.1




AL

% B FAR~T1E & A = AT | o i
S S 7 - 2
BL=arr7)—k o ck=18N/mm 2500 X ( 3.730 + 1.202 ) T E
t=10cm !
+ 0.600 X( 1.240 +  0.100 X 2 )| m 13.19 w726
1106 800 1820 736'6‘
JL—F4
b3 | iy oo 2 X (- 3.730 + 1.202
‘%, N s e e e A
+  3.100 )X  0.100 m” 1.61
Tl e ERAn S
shim| 2 X ( 3.730 + 1.202 + 2.900 ) gg —— - -
1274 866 1656
3730
X 1.439 — 2 X 1.900 X 0.800
S S
= 19.500 o ‘
Wl 2 X 1.189 X 0.800 ol w |
GE 7J< %B) 2102 o 1240 392 518 N
103
+ 2 X 1.000 X ( 1.274 + 2.858) :
+ 1.900 X ( 1.274 + 2.858 )
iIF M|
= 18.017 2900
600 2300
180 420 200 FEEER 1900 200
Nl 2 X ( 0.850 + 0.420 ) X  0.500 + ‘ 2022 SL—F oy
(& S
2 X ( 0.330 + 0.200 ) X  0.320 R R 3
S |
= 1.609 . o B ol
27 . =2
B 200 ‘ =
Sy KES (¢ 350) | 3.14 X 0.350 X 0.200 = 0.220 u | 777‘77 ] g
5 | 4
&34 19.500  +  18.017  + 1.609 + 0.220 B
= 39.346 | m® | 39.35 Lassy—
600 | 2500
3100




AL

% TR~ 1A 7 ) B2y HAL | Bk 1 i
a7 —h o ck=24N/mm* ( 3.730 + 1.202 ) X 2.300 X 1.439
{8 m
+ 0.600 X 1.240 X 1.439
1274 800 ‘ 2858
— 1.900 X 1.000 X 1.274 -
—( 2022 X 0156 +  1.900 X  1.033) . Lo S _— 2
’ 5 ()
X 0.800 58" n 8 NRE:
ES |
— 1900 X 0800 X  2.858 - ‘7777777777 g
8 \ 8
— 0.850 X 0.420 X 0.500 o o -
3730 1202
|
— 0.330 X 0.200 X 0.320
1
— r /4 X 0.350 % X 0.200
+ 1/2 X ( 0.374 + 0.874 ) X 0.200
X 1.900 m’ 8.83
1] SD345
D13 B X 0 kg 125
D19 I kg 216
D22 I kg 168
oz kg 509
TV —F0 T-25 =Z#pedk K 1.00
AHZME1900 A
R 1.900 X 1.000 X ( 1.274 + 2.858 ) Z2m? 7.85




PRP ¢ 200mm &A% T. (8 EHi5AR) - BB - A TAE B CaliBh - B IED)

¥ Paran | AL i5ys)
P A i BN fL R EQ BIE - - + ¥ L HA= 02 m
& (o woloM |V Bl B | R HIAR L2 LR L2
i . : el ROl L3 4w || | 2| ® | ®| +
0 | 7 Y Iz X = < - 5 0 5 = o ) T Hil
[ | e s w0 % & ml |l ‘ & L2=L-L
= ; = e LB | OB | s | e ) N
i e |l vlulv ¥ 5 | B | & f% i *ﬁi T T e 75%75 | 100X 100
H H ; 1;14 Tk iﬁ ;.: ; wlE | & H=D+H’ | & 5 2.0m | 2.5m | 3.0m | 3.5m | 4.0m X 3.2 X 3.2
=2 5 & L1= T H'= (1.89)1 2.3) 1 2.8) ] 3.3)| 3.8 2.0) | (3.0) ] 3.5 | (4.0
I 0.75( 0.90| 1.80] 0.30 L-> | L1/4 ] 200 | 200 | 200 150 | 150 | Eyg| D 0.306 L Fhk 1B | 2B | 2B% | 3B
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TRAFEHERE LYY ERHESE

ig il B S+ sk - S B & =l %
A H R E T ANEEIGRIE) (AH) 4m*/H
# W E & T /Ny 8R50.08m® ( 0.06) 43 m°/H T4P. 15
" 18y 7740, 13m° ( 0.10) 44 m*/H T25P. 16
" 1Ny 4 R0, 28m° (0. 20) 59 m*/H "
" Ny 2 790.45m° ( 0. 35) 74 m*/H "
" 18y 2 7R50.8m* (0.6) 109 m*/8 "
2 2 N B £
A Hh 8B R (58 v %) 33 m*/H N
oMW 1B R /Ny ERH0.08m® ( 0.06) 57 m*/H T4P. 20
" Ny 4 HRH0.13m° (0.10) 65 m*/H "
" 1Ny 5 R0, 28m° (0. 20) 85 m*/H "
" /3y 5 7R™0. 45m° ( 0. 35) 105 m*/H "
" 18y 9 78R40.8m* ( 0.6) 145 m*/B "
- (58 v %) 33 m*/H N
% % % TPRP@150 (t# 5% % ) 10 = 0.21 A 48 m/H FEEE4E P. 334
" PRP ¢ 200 (t 5F % ) 10 = 0.22 A 45 m/H "
" PRP ¢ 250 (5% % ) 10 = 0.23 A 43 m/H "
" PRP ¢ 300 (t# 5% % ) 10 = 0.24 A 42 m/H "
" PRP ¢ 350 (t 5F % ) 10 = 0.25 A 40 m/H "
% % 3% T PRP¢150 (f# 5% % ) 10 = 0.19 A 53 m/H TEEE4E P. 334
" PRP ¢ 200 (t# 5F % ) 10 = 0.2 A 50 m/H "
" PRP ¢ 250 (5% % ) 10 = 0.21 A 48 m/H "
" PRP ¢ 300 (f# 5% % ) 10 = 0.22 A 45 m/H "
" PRP ¢ 350 (5% % ) 10 = 0.23 A 43 m/H "
4 RSB ER R R/ A RSB ER A
B EM X RBEALMUT (NysEkH) 100 m+ 11.0 h x 6.3 h/H 57 m/B | 690/110=6. 3 (#8%KP. 02-9)
" BiA 2.0mUTF  (SyHk™)| 100 m+ 11.6 h x 6.3 h/A 54 m/H T4P. 41
" BiA 25mUTF  (Sy &™) 100 m+ 125 h x 6.3 h/A 50 m/H "
" BiA 3.0mUTF (SyHk™)| 100 m+ 13.4 h x 6.3 h/A 47 m/H "
" BiA 3.5mUTF  (USwyHk™)| 100 m+ 146 h x 6.3 h/A 43 m/H "
" A 3.8mUTF (WNy &™) 100 m+ 150 h x 6.3 h/A 42 m/H "
" Bl#% 1.5mBAF  ((t# 5% % )| 100 m =+ 0.90 H 111 m/H "
" 5l# 2.0mBAF  (t# 5 % )| 100 m <+ 0.90 H 111 m/H8 "
" 5l#k 2.5mBAF  (t# 5 % ) 100 m < 0.90 H 111 m/H "
" 5l#% 3.0mLATF  (t# 5 % ) 100 m <+ 1.00 H 100 m/H "
" 51k 3.8mLUT ( t# EF & ) 100 + 1.10 H 91 m/H "




TRAFEHERE LYY ERHESE

i 7l R OE Tk &t g H H#  ElE
BEELYEH
* R T ERiE 1% (t# 58 &% 100m = 0.6 A A/H 167 m/H T4P. 50, 51
BEELYEH
" RIE 2E% (t# 5 % ) 1M0M0m = 1.2 A A/H 83 m/H "
EELyEH
" BE 1B (t# 5 % ) 100m = 0.5 A A/B 200 m/H "
BEELYEH
" BE 28 (t# 5 % ) 100m = 1.0 A A/H 100 m/H "
2 T A &
LB OHEALMUT (H#H FE &) 10 m+ 017 A A/H 59 m/H T4P. 39
" BiA 20mUT (5 % ) 10 m = 0.20 A A/H 50 m/H "
" BiA 25mUT (H# EE & ) 10 m + 0.23 A A/H 43 m/H "
" BA3OmUT (&) 10 m+ 027 A A/H 37 m/B "
" BiA 35mUT (i 5 % )| 10 m = 0.31 A A/H 32 m/H "
" BiA40mUT (& ) 10 m + 0.36 A A/H 28 m/H "
" BiA A5SmUT (& ) 10 m + 0.42 A A/H 24 m/B "
" BiALS0mUT (i 5 % )| 10 m = 0.49 A A/B 20 m/H "
" BASOMUT (5 & ) 10 m + 0.53 A A/H 19 m/H "
" BiA 6.0mUT (H# FE & ) 10 m + 0.78 A A/H 13 m/H "
" 53k 1.5mlUTF (H## 5 % ) 10 m= 0.10 H 100 m/H "
" 5k 2.0mUT (H# 5 & ) 10 m+ 0.12 H 83 m/H "
" 53k 2.5mlUTF ((f# 5 % ) 10 m =+ 0.14 H 711 m/H "
7 53k 3.0mlUTFT (f# 5 % )| 10 m + 0.16 H 63 m/B "
" 53k 3.5mlUTF (t#H 5 % ) 10 m+ 0.18 H 56 m/H 7
" 53k 4.0mlUTF (t#H 5 % ) 10 m= 021 H 48 m/H "
7 54k 4.5mUTFT (f# 5 % )| 10 m + 0.24 H 42 m/8 "
7z 513k 5.0mlUTF (t# 58 % ) 10 m + 0.26 H 38 m/H "
" 53k 5.5mlUTF (H# 5 % ) 10 m =+ 0.30 H 33 m/H "
" 511k 6.0mLLF (f# § & ) 10 m <+ 0.35 H 29 m/H "




MR+ T (4.43misH)

WA A T L= 2.6 m  (GofRBedt 2BY)

H F i

0.95 m

E R 4.43 m

PEHI & 8.20 m®

) BLAfE T (R BSR4 b ) 1.90 m?

HWER & 6.20 m®

e VU ¢ 150 mm
2\ 7 IR HL 0.28 m
FSPRNERS 1.70

5 Fm#L 4.43 m

~NTv L — Wik 4.8~4.9t B
w7717 (0.28m3) D1 H Y4 vE| + & D= 59.00 m’/ A
2377807 (0.28m3) 01 H 4 VLR 1 & D= 85.00 m’/H
1 H M0 5 A (R D= 33.00 m®/H




H % & "

Bl T CI S RAZ| BAAK
(X1.7)
1% B AR 100.00 m + 2.4 A = 42 m/ A
(it 5A) 443 m + 42  m/H = 0.11 A
XARTERE T 100.00 m <+ 0.8 A = 125 m/ H
(i ) 443 m_ + 125 m/H = 0.04 H 0.31 ||0.50 H
afT || RITHRET 10000 m <+ 0.4 A = 250 m/ H
(%) 443  m + 250.00 m/H = 0.02 A
2 Hi 8200 m’ + 443 m X 443 m = 8.2 m’
820 m’ + 59.00 m’/H = 0.4 H
8 T - Sl 0.11H + 0.04H + 0.02H + 014H = 031 H
WO RLRE T 190 m® + 443 m X 443 m = 1.9 m”
(Bt e \) 1.90 m’ + 8500 m’/H = 0.02 El
(BRIEMEZE)
b AT 2 190 m' = 443 m X 443 m = 1.9 m’ 0.12 [fo.20 A
190 m’ = (330 m'/H X 2 H) = 003 H
BT = 48 m/H
443 m_+ 48 m/H = 0.09 A
WA+ Angk | 0.03 H + 0.09 A = 0.12 H
R T 620 m’ + 443 m X 443 m = 6.2 m”
(Bt \) 6.20 m’ =+ 85.00 m’/H = 0.07 El 0.09 lo.20 H
c 1T 2
CRER(E )
620 m’ + 443 m X 443 m = 6.2 m”
6.20 m’ + (33.00 m*/H X 2 &) = 0.9 H
0 RS S 100.00 m = 0.9 A = 112 m/ A
(it ) 443 m + 112.00 m/H = 0.04 H
di7T || RIHEL 10000 m <+ 0.6 A = 167 m/ H 0.09 ||0.20 H
(g ) 443 m + 167 m/H =__0.03 A
AR IHEL 10000 m <+ 0.4 A = 250 m/ H
(5] ) 443 m_+ 250 m/H = 0.02 H
+ T 0.04 H + 0.03H + 0.02H = 0.09 H
X afTiE TR T+ &5,
b {752 HRFERE L (5702 %) 26 375,
c 172 HRFERE (5702 %) 268 975,

AR A LIS EAER O REWNEIZEINT D,
bITREDSE T L CRRARET 2,
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a {72

(53 T+ #aH) (05 H)

b 17
(1) LB + B AT %

c TR
(M (et )

d 1774
(ERE#ET)
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THE DR E% 443 m + 443 m = T

TR OAL A% 1 @B X 08 H= 08 H= 108
KEZFEHAEK { (o031 +012 )/2+ (009 —009 H1/2X 009 }X 1 = 03 = 1
RWFHEEHEEA% 08 H 17 = 05 H = 1 H

RS AA LA T (59.20 X 25 X 2 ) X 44 = 1311 kg = 1.3 t



AR R T (12miEsH])

BREFHSAR I 1= 2.5 m  CGofRErf 2B)

H F i

0.95 m

E R 36.60 m

AN & 69.80 m?

o FLpfE T (B LR T oo b ) 16.30 m?

MR & 48.90 m?

e PRP 6 200 mm
2\ 7 IR HL 0.28 m
FSPRNERS 1.70

#i5 Fm%k 12.00 m

~NTv L — Wik 4.8~4.9t B

w7717 (0.28m3) D1 H Y4 vE| + & D= 59.00 m’/ A
2377807 (0.28m3) 01 H 4 VLR 1 & D= 85.00 m’/H
1H YR & (F 5 ) D= 33.00 m’/ A




H % & "

moal T o C S RAS B A
(X1.7)
1% B AR 100.00 m + 2.4 A = 42 m/ A
(it 5A) 1200 m =+ 42  m/H = 0.29 A
XARTERE T 100.00 m <+ 0.8 A = 125 m/ H
(i ) 1200 m <+ 125 m/H = 0.1 H 0.83 ||1.40 H
afT || RITHRET 10000 m <+ 0.4 A = 250 m/ H
(%) 1200 m =+ 250.00 m/H = 0.05 A
2 Hi 69.80 m’ =+ 3660 m X 1200 m = 2289 m’
22.89 m’ <+ 59.00 m’/H = 0.39 H
8 T - Sl 029 H + 0.10H + 005H + 039H = 0.83 H
WO RLRE T 1630 m’ <+ 3660 m X 1200 m = 534 m’
(Bt e \) 534 m® + 85.00 m’/H = 0.06 El
(BRIEMEZE)
b AT 2 1630 m’ =+ 3660 m X 1200 m = 534 m’ 0.43 [fo.70 A
534 m’ + (330 mH X 1 &) = 0.6 H
BT = 44 m/H
1200 m = 44  m/H = 027 A
WS g | 0.16 H + 0.27 A = 0.43 H
R T 4890 m’ =+ 3660 m X 1200 m = 1603 m’
(Bt \) 16.03 m’ =+ 85.00 m’/A = 019 El 0.24 l0.40 H
c 1T 2
CRER(E )
4890 m’ + 3660 m X 1200 m = 16.03 m’
16.03 m’ + (33.00 m*/H X 2 H) = 024 H
0 RS S 100.00 m = 1.0 A = 100 m/ A
(it ) 1200 m =+ 100.00 m/H = 0.12 H
di7T || RIHEL 10000 m <+ 0.6 A = 167 m/ H 0.24 ||0.40 H
(g ) 1200 m <+ 167  m/H = 0.07 A
AR IHEL 10000 m <+ 0.4 A = 250 m/ H
(51 2) 1200 m =+ 250 m/H = 0.05 H
+ B T 0.12H 4+ 0.07H + 0.05H = 0.24 H
X afTiE TR T+ &5,
b {752 HRFERE L (5702 %) 26 375,
c 172 HRFERE (5702 %) 268 975,
HEhR A A LS EAEE DO RZNEHIEBRINT 2,
d 172 bATRRDME T L CBshE T2,
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(53 T+ #aH) (1.4 H)

b 17
(1) LB + B AT %

c TR
(M (et )

d 1774
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THE DR E% 36.60 m -+ 1200 m = 3.1 [A

TR OAL A% 3.1 | x 22 H= 68 H= T7H
KEZFEHAEK { (o083 +043 )/2+ (024 — 024 M1/2X 024 }X 3.1 = 23 = 3
RWHEEHEEA 68 H 17 = 4 H = 4 H

RS AA LA T (59.20 X 25 X 2 ) X 366 = 10834 kg = 10.8 t



